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کنید. حل مناسب انتگرالی تبدیل کمک به را زیر مسئله .١{

ut = uxx + tu, −∞ < x < ∞, t ≥ ٠
u(x,٠) = e−x٢

, lim|x|→∞ u(x, t) = ٠.

کنید. حل مناسب انتگرالی تبدیل کمک به را زیر مسئله .٢{
ut − uxx + ٢u = δ(x)δ(t), t ≥ ٠, x ∈ R
u(x,٠) = e−|x|, lim|x|→∞ u(x, t) = ٠.

کنید. حل مناسب انتگرالی تبدیل کمک به را زیر مسئله .٣{
ut − uxx + ٢tu = δ(x)δ(t), ٠ ≤ x < ∞, t ≥ ٠
u(x,٠) = xe−x, ux(٠, t) = t, limx→∞ u(x, t) = ٠.

کنید. حل مناسب انتگرالی تبدیل کمک به را زیر مسئله .۴
uxx + uyy = e−x−y, ٠ < x < ∞,٠ < y < ∞
u(x,٠) = xe−x, ux(٠, y) = e−y

limx→∞ u(x, y) = ٠, limy→∞ u(x, y) = ٠.

کنید. حل مناسب انتگرالی تبدیل کمک به را زیر مسئله .۵
ut = uxx + uyy + tye−x, x ≥ ٠, t ≥ ٠,٠ < y < ١
u(x, y,٠) = y

١+x٢ , u(٠, t, y) = e−t−y

u(x,٠, t) = ٠, u(x,١, t) = t sinxe−x, u(∞, y, t) = ٠.

کنید. حل مناسب انتگرالی تبدیل کمک به را زیر مسئله .۶
utt + ٢ut − uxx + u = et−٢x, x ≥ ٠, t ≥ ٠
u(x,٠) = e−٣x, ut(x,٠) = ٠
ux(٠, t)− ٢u(٠, t) = t, u(∞, t) = ٠.

کنید. حل مناسب انتگرالی تبدیل کمک به را زیر مسئله .٧
utt = uxx + uyy + et−x٢−y, t ≥ ٠,−∞ < x < ∞, y ≥ ٠
u(x, y,٠) = ٠, ut(x, y,٠) = e−y−|x|

u(±∞, y, t) = ٠, u(x,٠, t)− uy(x,٠, t) = te−|x|.

کنید. حل مناسب انتگرالی تبدیل کمک به را زیر مسئله .٨
utt + uxxxx = ٢uxxt + te−x, t > ٠, x > ٠
u(x,٠) = ١

١+x٢ , ut(x,٠) = e−x

ux(٠, t) = t, uxxx(٠, t) = et, u(∞, t) = ٠.
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کنید. حل مناسب انتگرالی تبدیل کمک به را زیر مسئله .٩
utt = uxx + uyy + uzz, −∞ < z < ∞, y > ٠,−π < x < π, t > ٠
u(x, y, z,٠) = xe−y−z٢ , ut(x, y, z,٠) = ٠
u(π, y, z, t) = u(−π, y, z, t), ux(π, y, z, t) = ux(−π, y, z, t)

uy(x,٠, z, t) = tx
١+z٢ , u(x,∞, z, t) = ٠, u(x, y,±∞, t) = ٠.

کنید. حل مناسب انتگرالی تبدیل کمک به را زیر مسئله .١٠
utt − uxx + ٢ux = et−٢x, x ≥ ٠, t ≥ ٠
u(x,٠) = ٠, ut(x,٠) = e−٣x,

ux(٠, t)− ٣u(٠, t) = et, u(∞, t) = ٠.

(.u(x, t) = v(x, t)ex بگیرید (راھنمایی:
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